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KaneHgapHbii y4ebHbI rpaduvk
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CBOD,HbIe OaHHbIEe
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Uroro
cem. 1| cem. 2 | Bcero |[cem. 1| cem.2 | Becero | cem. 1 | cem. 2 | Bcero | cem. 1 | cem. 2 | Bcero
TeopeTnyeckoe obyyeHne un 18 17 35 18 17 35 |172/6|155/6(331/6(172/6| 95/6 |27 1/6| 1302/6
paccpefoToYEHHbIE NPaKTUKN
D |3K3aMeHaLMOHHbIE Ceccum 3 3 6 3 3 6 |24/6| 2 |446| 2 2 4 20 4/6
Y |YuebHas npakTuka 2 2 2
M |MponsBoacTBEHHAs NpaKTuKa 2 2 4 4 6
MNa |MpepaMnnoMHas npakTuka 4 4 4
MoaroToBka K 3awmTe u 3awwmTa
[l |BbINYCKHOM KBaNUQWKaLMOHHOM 4 4 4
paboTbi
K |KaHukynbl 2 7 9 2 7 9 2 |55/6|756| 2 |[83/6|103/6| 362/6
« |Hepaboune npasgHuuHble aHK (He 13/6 | 5/6 |22/6 | 13/6| 5/6 [22/6| 44/6
BK/IOYast BOCKPECEHbS) (9 aH) | (5 an) [(14 aW)| (9 am) | (5 am) (14 aH)| (28 an)
MNpogomxuTenbHOCTb 06yyeHus
(He BKJ1tO4as Hepa60tw|e npa3aHuyHbIE AHN 6onee 39 Hen. 6onee 39 Hea. 6onee 39 Hea. 6onee 39 Hea.
N KaHWKYIbI)
UTtoro 23 | 29 | 52 23 | 29 | 52 233/6|283/6| 52 225/6|291/6| 52 208
CryneHTOB 10
pynn 1




